According to lecture, which of the following are the main reasonstousea * 2 points
"sentinel node"?

D To fix the addLast null pointer bug.
[] To create a node that can contain any value inside.
[] Toavoid having special case in our code.

D To make our code more complicated so it handle more complexity.

Which of the following is NOT an invariant of an SLList with a sentinel * 2 points
node?

O The sentinel reference always points to the sentinel node.

O The first node (if it exists), is always at sentinel.next.

O The size variable is always the total number of nodes that are connected with each
other in the SLList.

(Extra) What does "TANSTAAFL" stand for? 0 points
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